- HRATO0 (FALL0 A 0 e R § RS h g )

1. 2K X+2y+32=54 2L f A Hcfzs K

2. 23 #23% (x—36)°+(2x—36)> +(3x—36)° = (6x—108)> , x=
(7 41* a’+b’=(a+b)@@®—ab+b?), a’-b’=(a-b)@*+ab+b’) )

3. ki 4rdkz n e, ¥ kP-38 51000 2 Bk, Rk



4. 4ot §, ABCD 5 %), © wAADQG 58, A D
AMBP & f 5 9, ACPQ# # 3 10,
Pl AAPQ & ## Q

5. 4rEl, AC=8, M % AC * 2. /BAC=,DCA=90°, ~CAD% /ACB:# D
2 2, /BMD=90° , £CDz &=
B

a b I
¢ = = Tabcy srEc, Fabicz i FH
“6a+2b Sb+3c  at4c vel¥, ¥ RS

axiyrz, kxyz=




S P EEPEA% (FEI0A R FEF RPN BT

2
7. (1)#-20191081 5 #&# & 258 = (3%)
(2)3B ~31ent e, viFEFad a3 ?{’TE %ﬁ % 2019108, RI:&3 B &
ﬂfr'mﬁn | B A o (T4)
8 - 7 #AABCDE enb B EEE, A~ 1,2,3,4,0 (X B EZ- BT

T AF )Eldﬁlix:z#ﬁjﬂiff%\gt,}im HE R 3 g5 ik A
T O
C D
9. HHE & T AMPE: AABC, Acheh & T s BCH D
Bl AB : AC= BD : CD
A
28 * .5

CEBES RN —xy+Y =Xy XY A ERK REE(XY)=



